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W IEIES UA U A dUT IHYUAT HEAr & Wy G amwen ¢, sl Ry sw
fepea (),(@) ,(31) , TYUT (T) 9L B9 34H A UH & 3aX Tel &9 / Each

objective question is provided with a text and/or figures wherever applicable
with multiple answer choices (a), (b), (c) and (d). Only one of them is correct.

4. MTAFR fe W QU 7T et & Cad § US| 3ua 3a30 dl Rgld @ o
former &g aer el 3Uar @rer dfel UlEC HelH P & YA H / Read the

instructions on the OMR sheet carefully. Use only Blue or Black Ball Point Pen
for writing on OMR sheet and marking your answers.

5.7 qEdE@8 UAR F uHl F WA SR wg HA Th  HE  glom|
Il 3TRI & ToIT IS ABRICHSD 37 a6l & / All objective type questions carry

equal marks of ONE for a correct answer .There is no negative marking for
wrong answers.

6. Ush U g Fafder 3eR ¢ W 38 Ired FO & AT Sreen|
Multiple answers for a question will be regarded as a wrong answer.

7. 3MARTEH B W IF H o JRde # BT 0 R TUS & 3007 R Fhd B
AT F BS i Me 3ucley A& HUS SN / Space available in the booklet
could be used for rough work, if required. No separate sheet will be provided.

8. it 94T 3T & fow age & Hfdel o9 Tel 81, 30 W 30 AT &I adig o HY| 37
3T U & B Hhd & dAT I A Dided UH & Y /Do not waste time on

questions, which are too difficult for you. You can go on to other questions and
come back to the difficult ones later.

9. gdaT & UYA € F e 3Fafi o odiem g oEa A ogAa a9 ¥

Candidates are not permitted to leave the examination hall during the first hour
of the examination

10. TieT & @@ @ W(1) e Rusw gu Af@a oden & gfa Rwe @ (2)
INTAIR SR YR et H Al & qur Brdr off grema & 3t 5o are &
/ o SUAt the end of the test (1) Hall Ticket(s) with photograph pasted on it
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SETA

oy TPRAR %‘r Lucas reagent is

A. conc. HNOs+ anhyd. ZnC/, B.conc. HC/H anhyd. ZnC/,
C. conc. HNOs+ conc.H>SQy4 D. conc. HC/+ conc. HNO4

HI-UT 13 T TS P § B 1S 3 SAeh eI ST &
The C-H bond length is minimum in bond formed by

A. THU-TE 3aT offTeT (S foF 3rechard #H) sp-s overlapping (as in alkynes)
B. THUT-TH TRl T (ST foF 3recheq & &) sp’s overlapping (as in alkenes)
C. THUr’-uq e it (=T T 3oy H) sp-s overlapping (as in alkynes)
D. 4T sRTe} % All are equal

Helifarearereh 3ol 1 STal ST STeT & ATy TAw e fopar irem & ar 3 uRomer e &

Salicylic acid when treated with bromine water yields?

A. 2,4,6-TFsTATS Ao tribromophenol

B. 3frifsierarer Orthobromophenol

C. AT STAThaTeT Metabromophenol

D. 306 A F 1S T ST None of the above

dargy # Hile i@ Sie ar sewaissa &2

Which of the following alkaloids present in tobacco?

A. TAIE Nicotine  B. TEITUT Atropine
C. fFaae Quinine D. §TaRe Piperine

fAe=fori@a S F & TR smeaiReTe o ufafRica axar d

Which of the following pairs represents stereoisomerism?

A, SRS 3rsaARe#, fEafa gasuar

Geometrical isomerism, position isomerism

B. SIANMAA IMSAIARSTH, TSATCHD HSHANH

Geometrical isomerism, conformational isomerism

C. 3iftcamd FAEAANTH, TNCARTH

Optical isomerism, tautomerism

D. 3iffCeepe JMSAIANGIH, FerdRea

Optical isomerism, metamerism




C,H;5Cl & Fafaa URUTH o& fere ufafshar & fEufa @i d@r ¢

The reaction condition leading to the best yields of C,HsCl are

A. CyHg(excess) + Clz -
g=rr light

e dark
B. C;Hs+Cl; I

FAY @ ama= Room Temperature

T UV
C. C;Hg+ Cla(excess) | S ghf
T @ uv
D. C:Hs+Cl> s *
g=mer licht

AT 573 T RpED gRT IR THAT ST Jehell &
Methane can be prepared by

A. Toiet ufafeear Wurtz reaction B. 31 FratsTel e
C. B3Il 1h{u Hydrogenation D. g

De Carboxylation
All

e HEAT ¥ AT §

Octane number is related to

AL T&:m—ué ool Lubricafing oil B sih ool Break Oil
C. el Gasoline D. &raTel Il Diesel oil

U Goif a5 3 FaMUT & IMgfi AT ITeed 38 W AR e

In vibrational rotational bonds the frequency or wavelength of absorption depends on

A. CRTFITUEBiT T TIEUY TFTAT HR Relative masses of the atoms

B. 915 o 83T o The force constants of the bonds
G UIWI'U;[.HT GARCTIIPITS Geometry of the atoms
D. g All
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TSR T 817 3 AR fife s e st e

Finger print region in IR spectra occurs in the region

A. 5000 T cm-1- 1300 FFY cm-1 B. 1300 ¥ cm-1 - 667 T cm-1
C.2000 83T cm -1 - 1200 T em -1 D. 3000 Y cm-1 — 1000 ®aft cm-1

11

M-a@mﬁmﬁﬁqwsaﬁﬁﬁmﬁw@a@m%

The separation in ion-pair chromatography can be influenced by

A. 3TTUTIdeR FRMI &l SUATIT Use of molecular modifiers

B. fAfedw @AM T 3UTT Use of synthetic modifiers

C. 91q dIole A1 BT SUANT ¢ Use of metal chelating additives
D. 3 3UH All the above

12

TTATO] JTERMNTOT & TR W FSwonests R s i & aits

Analytical methods based on atomic absorption are highly specific because

A. GIHATI] 3raRyor GIES agd HhIoT & Atomic absorption lines are very narrow
B. tRade a1 @9 acat & T & © Transition energies are same for all

elements

C. a1 1 3R 2 T8 ¥ Both A & B are correct
D. Eﬁé’ oY H‘@f Flﬁ %‘ None is correct

13

fferiad agea 3 & sl a1 wrioreh 8 3 uResff

Which of the following compounds are transparent in the ultraviolet region?

A. SURIRMAM $W Ethers & Thio Ethers B, 37ePIEel Alcohols
C. =g Terpenes D. Y All

14

ﬁmﬁ@amﬁwmmmaﬂaﬁg@mwwwﬁmmm%

Purity of distil water can be tested using the following chemical

A. e TRE Nitric acid B. f$IH FTESIATSS Sodium hydroxide
C.ReaR aAB¢e  Silvernitrate D, oGRS Sulphuric Acid
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SUTEATT T el & forT e GlAuTsTae TUeeT T cehelih sglaiiel TRER

3 STATTITYER BISgIsle difesar & forw Hla & &
The most convenient spectroscopic technique to establish the presence of intermolecular
hydrogen bonding in hydroxyl compound is

A.gdr UV B. AR IR

C. STH3R ESR D. {X Mass

16

wfaerd e =T e

What is percent error?

EHTCrB?r‘g ¢ Error in measurement

A.ufd aié rcent r=
RIcd ke b Feflepe HIT Accepted value

X 100%

AT H & Error in measurement
B. Qia‘\’laﬁiﬁ ercent error =
P UZeTeHD TR FT Experimentally determined value

% 100%

e 9T AT Experimentally determined value
afd |agié ercent error = x 1009
CHlcR percent.e Tl 71T Accepted value 00%

D.ufdercadfepercent error
Ediepe HATeT Accepted value

 gATCHS TR AT Experimentally determined value

x 100%

17

THTAT e Ifihen gt 3 Reafafad Rigia die @182
The principle followed in the affinity chromatographic method?

A_epferer 3T 3l o =1 ard=hd Interaction between cation and anion

B. TamgdT ufafeham & 3MUR WX Based on enzymatic reaction
C. Sfereh HUh o 3T WX Based on biological interaction
D. Sifde 3-]TU_I3-ﬁ & 37eRIY o 3TYUY WX Based on size of the biomolecule

18

eI do & Jfec TR Units of calorific values
A. ot/ TR KI/Kg B. #Afed / ileX Moles/litre
C. TopalT / W8 Km/sec D. 3/ €IYUA g /cu.m
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UTAT T WRIU $HH A iy @il T 3ufEia & R aar &

Hardness of water is due to the presence of minerals of

A Naand K B.CH4 and C;Hg C.Be and Li D.Ca and Mg

20

fergiT o1 goTrell o tedelocst 3 ol A fohe &0 3 uRenfid frar sam ¥ (3rafie e
U ¥) The Helmholtz free energy A of any system is defined as (Internal energy is U)

A. A=U-TS B. A=U+TS C. A=H-TS D. A=U=PV

21

FaTcH HeR & AT TRT det 3 & Pl a1 7o &2

Which of the following sets of quantum number is wrong?
A Td=3,Tel=2,TH=1,Td=+1/2 n=3, 1=2, m=1, S=+1/2
B.Ud=3,UeI=2,TH=0,TH=+% n=3,1=2, m=0, S=+1/2
CTA=2,Tel=2,TH=0,TH=+1/2 n=2,1=2, m=0, S=+1/2
D.UTA=2,Tl=1,TH=0,T=+% n=2,1=1, m=0, S=+1/2

22

Trarafae Ui fehan3i & cairg & Rigid & AR
According to the collision theory of chemical reactions

A. T TErEfAS gfafhar & 3moTfaes cota & ary ardr

A chemical reaction occurs with every molecular collision

B. Ufc Qehs Tehdra & AT &l &3 W 3uriaes el &

Rate is directly proportional to the number of collisions per second
C. I =RoT F gfafhad e T 3y S ea ¥

Reactions in the gas phase are always of zero order

U NS ¥ —%$ﬁ$%’
HITTTHTHT QX 31TV 977

Reaction rates are of the order of molecular speeds

W

23

39T 3R e Y uffenar &Y g3 8.5 x 10-5 31 2.38 x 10-4 ¥, TcJelet TR il §2The

rate of forward and backward reaction are 8.5x10”and 2.38x10™. The equilibrium
constant is?
A.035 B. 4.0 €. 52 D. 0.29

24

gfe wfafrar & afthaar st e &, K Reafafad fras e

If the activation energy of a reaction is zero, K is equal to

A. T Zero B.TA C.T'A" D. TS Infinity
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fafdee 3iffdecw 31uet (T + o) ATl & Tedd thaA 3 Seldreiall ¥ X §UE, TS HY el

ST &

The various orbitals are filled by electrons in the increasing order of their (n+/) values, this
statement is known as

A. g‘;—f & 19 Hund’s rule

B. 3% a15 TAUTT Aufbau Principle

C. ursell o afgterR fAgid Pauli’s exclusion principle
D. 3P A H EF% ofT AT None of the above

26

Tarafaes R gRT Sctee fagd @ol 3 Sl TATS I & 38 IR 3 hiet AT 2Tl Hel el
&

In a galvanic cell which statement regarding the anode is not correct ?

A. TS # UelTeald 3T Bl & Anode carries positive charge

B. TAIE W s %’IHT ?I Oxidation takes place at anode

C. TS Uch RHOTATcHD m?f% Anode is a negative charge

D. Gfshd TATSS o & H AHTHAFUT FoT ST & metal acting as active anode

dissolves anodically

27

TRER AT X 3T T T AT 9. 962 x 10* UATH * o GalTd & ded 95 HHl &5eh ol

&1 veh & argAT T 37 10.13 x 104 TATH 2 36 gard H 3T 5ehel Dl I0TAT L

A sample of gas at a constant temperature occupies 95 cm’ under a pressure of 9.962x10*
Nm?. Calculate the volume at the same temperature and at the pressure of 10.13 x10* Nm®

A.93 cm’ B.100cm®>  C. 94 cm® D. 95 cm’

28

Ut s UTRRET ot e shaet 10 fere ¥, af U TRY 0.08 # / X § IR TS |

Tel 3 T1gar 0.01 mol / e &, ar af =

The half-life of a first order reaction is 10 min. If initial amount is 0.08 mole/litre and
concentration at some instant is 0.01 mol/litre, then t=

A. 10TC min @ B.20@acmin  C. 30 f&<€ min D. 40 fAEE min

29

I NI H NI 435N NA S

If pH of a solution is 4.3 the solution is

A. 8T alkaline B. =g¢el Neutral C. 3T Acidic
D. 36 A A Ehélé' T AT none of the above
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3 T Al ITHT &THAT & 37T &

The dimensions for the molal heat capacity of a gas are

A. Cal.deg” g B. Cal.deg”.mol’! C. Cal.deg’ atm™ D. Cal.cm® deg

31

TeeTdT 31 argaT= &

Enthalpy and temperature are

A. Sl s 9[0T Both extensive properties
B. gl It a[oT © Both Intensive properties
C. <ITUeh, 9Tge] IUT shARI:  extensive, intensive properties respectively
D. 9T&d, ﬁ'ﬂﬁf 9[0T ShARI: intensive, Extensive properties respectively

32

TS dreT THIET o T T THITS e T &2

The SI units of the vanderwaal’s parameter’ a’ are ?

A. Pa. m®. mol? B. N.m% mol™

C. Pa.m'6, mol? D. 3R A Eﬁf’é el None of the above

33

i T == }ﬂatl'lﬁ?a ® Radius of nucleus is proportional to

A. AIIZ BA2 C. Al/3 D. A2f’3

34

U OfAUee 3cuea giar & Sier

A precipitate is formed when

A. 3Tafa® scure fReadr 3cure O 36 §

The ionic product exceeds the solubility product

B. 3Teleh 3cUTG o1l YeleaRMel (Alegfaeler) 3cTg o axIaR &

The ionic product is nearly equal to the solubility product
C. HIfA® 3cure [Ioadr 3cure & A &

The 1onic product is less than the solubility product
D. gt '\':IFJ}T & SITdT & The solution becomes saturated

35

hael TSNS TATAR 7 AU, AH, Q, W T feraeh arer &

In free isothermal expansion AU, AH, Q, W are all equal to

A. @ Two B.T&dh One C.-al—two D. [T Zero




36

TITUE UdTedhed &l Schadi © The units of specific conductance are
A. mho. m” B.ms" C. m*> D.3WIt & q DS I &1 None of the above

37

forEcer foraely Aot 3t Rramfora ferar ST aehar &

Crystals can be divided into

A. 6 ATOTT 6 categories B. 7 ATORAT7 categories
C. 8 AU 8 categories D. ATOIT 9 categories

38

AT e 3 SR W geb TS Je A, ......... <helTs O wiafehar eidl &

In the lead-acid battery during charging, reaction occurs at the cathode

A. U3, T seTell Formation of PbO,

B. U’ + & 9&Y 3 @it Reduction of Pb* to Pb
C. QU d 31T, T I Formation of PbSO,

D. 3B A | Zﬁ[é ofT ALT None of the above

39

T DhaToi TS & 0.1 TH 8lel 1% 37191 o ST 917 & | 37e1e1 foRd 910 TRerien &
AT Ao &

A 0.1M solution of a weak acid HA is 1% dissociated. The approximate value of the
dissociation constant is

A. 1x10-4 mole/litre B. 0.1x10-4 mole/litre
C. 0.01 mole/litre D. 1x10’mole.litre

40

T TEURIRA (3TEI3Taeah) UfehdT & Tl For an adiabatic process
A. g=constant B. w=0 C.g=0 D. T= constant

41

e a1fars gl 3 IgER Ui fopaes SRR &

According to the simple kinetic theory PV is equal to

1 1 3 1
A. gmnvz B. Emnv2 C. Emv2 D. -mv

42

XeF4 T 37TRIh gTaaiTeliard araT YT hidT &2
Partial hydrolysis of XeF4 produces?

A. XeO; B. XeF, C XeOF; D. None of the above

10
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FaTel T 3mafe drferer F fhida Seaiar w69 Alsg &2
How many no of vertical columns are present in Mendal’s periodic table?
A. 3716 Eight B. HTd Seven

C. dl Nine D. 33RE Eighteen

44

T G2 CO, T TTAYUT &Y UTAT 3 T1Y UTafehar 3 g & Sirar &1 7% uer elaar
)

A substance absorbs CO, and violently reacts with water. The Substance is?

A. CaO B. CaCOs; C. H,SO4 D. SR H Y Eﬁé oY AT None of the above

45

€T Arse 3R vfAfesld & P o THhIuT &

The hybridization of carbon in diamond, graphite, and acetylene is

A. sp3, sp, sp2 B. sp3, sp2, sp C.sp, spz, sp3 D. sp, Sp3, sp2

46

dcal &l Ugell 3T gaffehiuT, 3TEUGT Pl Setch §IRT UEdTTad feham I1am AT?

The first reasonable classification of elements, law of octaves was proposed by?

A. SleTARR Lothermayer’s

B. #g@is Newland
C. 211 Both

D.3RBHAA a’ﬂ'é' it 8T None of the above

47

Araret I A3 e § FifeR? Nobel gases are monoatomic because?

A. 5¢ThT Helcd U § % Their densities are less than one
B. I TR fagI & They are unreactive

C. Ulqy / Vla3iegurd 1.41 & The C,/C, ratio is 1.41
D. Hley / W37eUTT 1.67 & The C,/C, ratio is 1.67

48

3Tl'é'm35 7 &Y GIIAT %T The Structure of IF7 is

A.CClegd Tetrahedral

B. 3ifeeUsal Octahedral
C. Beproft a1 RIS Trigonal Bipyramid
D. g9 &t &7 o1 a1 TURTTAS Pentagonal bipyramid

11
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YT T 915 4TI 31T 4TI gt a3t <hr Jeoret 3 uRade arg3it & AT & Fgfeh?
Metallic bond is stronger in transition metals than alkali and alkaline earth metals because
of?

A. SI-3olareidr Alied 31T® TEIT A Selaela More number of electrons including d-

electrons

B. tR?ITUIS-ﬁ &I 31T® gEaT Large number of atoms
O CR?ITUIEHT & BICTER Smaller size of atoms
D. (A) 3R & (C)

50

H3PO, &Y HSHIT T &2
Basicity of H3POy 1s?

A.Td One B. &l Two C.dlel Three D. IR Four

51

e 7 @ Pl § U FARI T H HIS[G &7

Which of the following metals is present in chlorophyll?

A. Mg B. Be
C.Ca D. None of the above W1t H & Ehﬁé el

52

$HIAR AR TFas & TEAHD AT HT PROT T &2
The reason for the chemical activity of Kr and Xe is?

A. U &lTehd 3T thelra Relatively easy dispersion

B. .del@ @rel A &1-3ifTdced Reh #{ Vacant d- orbitals in valence shell
C. 3Td 1S O eI High IP values

D. 3016 T All of the above

53

05 , Oy, 03 3AR0;2d 4TS HTET AFATTIR FHA T

The bond order in OF , O, 05 and 052 follows the order

A. 0;%>05;>0, > 0F B.0F>0, > 0; > 052
C. 0,0, >0.* > 0F D005 205 =0,

54

S H BIEC bl UTehaT Bl SUATIT hleh 'TeAT' YT UTH el H Ueh Scure 4T &7

What are the products obtained in the extraction of ‘Na’ metal by using Castner’s process at
cathode?

A. Na(s) B. Na(s), Ha(g)7 C. Na(s), Cla(g) 1 D. Na(s), Ox(gas)?

12
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STa fUErel g3 UAU3iiwE, g 3ueed (Seriioes) §, af fee & ¥ @l a1 seure
halg & JufRIaT &

When fused NaOH is electrolysed, which of the following products can be expected at
cathode?

A. Na(s), Oa2(s)7 B. Na(s) only C. Ha(s) only D. Na(s), Ha 1
56 | ey SaTeT ufafehar & AT sofat O wlaar 3frar 3 &2
An inert gas with the highest reactivity is?
A. He B. Xe C. Ne D. Ar
>7 | fFafafEd deal # @ e & dca # Tay 31 B o1 Y sy &Y &7 &2
Which one of the following elements has the highest ability to catenate?
A. Se B, Te C.O D.S
o8 | FfEareT Tar & STordm & A T T $?
Sodium burns in air to give?
A. GIf3TH ESZIFATSS Sodium Hydroxide  B. HIf3T9 3{TeraT@s Sodium oxide
C. OIf3gd WIFATss Sodium peroxide  D. ANZITH G 3HTFATES Sodium suboxide
59 | I wer TAfRra aca a1 urenvy Tean 11§ at g dea &
If a certain element has atomic no 11 then the element is?
A. &R erg Alkali metal B. &R qedl Urg Alkaline earth metal
C. Tdllslel Halogen D. 3feha 3T Inert gas
60 wr il vy e B s v = e --'-'lg--- O T—] 2 2 5

Folarglol T o TorT, =A<l & Y 31 IRaro] e o1 g ahi?
An element ‘X’ electron configuration was given as 1s* 2s’ 2p°3s” 3p°. Select the below
atomic number, suitable for above Electron configuration?

A.23 B.33 C. 47 D. 43

61

T F & forgar a2« Tad A &2

Which one of the following has lowest boiling point?

A. HQS B. HQO C. ste D. HzTe

13




62

feheter 31ehol SIS XeF2 & Xe A S[S U2

The number of lone pairs are associated with Xe in XeF,?

A.Th One B.& Two C.dld Three D.dX Four

63

fea1 3wy ufafeRan el W, 9131 HigdT Yeb HNO3 STH | T Sclee] ehicll &

Upon reacting with tin, hot concentrated HNO; produces

A.H:SnO;  B. Sn(NO;) C.Sn0,  D. Sn(NOs),

64

P A C & 3TApdd ufad e glar s

The coal containing maximum percentage of C is?

A. 3TITRIRHA Anthracite B. 3T hIrell Lignite
C. f[gf@=d Bituminous D. Ul Peat

65

T ATed SCIARN 3 Sod U hlcTdl ULATILIT AT 370734T & dfrer oeaT fomam et gl

% Vander waals interaction involves the interaction between atoms or molecules having

A. 37X 39 31MMheT Inert gas configuration

B. 3Td Sclgcialiaieider High electronegativity

C. 3Td Soldcicl ATAAT High electron affinity
D. 3T 3AAHI0T Fall High ionisation energy

66

ey gl a3t T aredy serreifeven faeame e ¥?

The outer electronic configuration of alkaline earth metals is ?

A. ns’ B'ns' C. np6 D. nd"

67

N,O T3 & Piaa a0 § IR o Sirar &

N,O is prepared by heating a mixture of

A. NaNQOs; and (NHy), SO4 B.NaNO; and H,SOq4
C. Cuand HNO; D. None of the above

68

6.4 forelaliex fRuTser 3remrget 200 FAeielex ur & FAlgg & | AU Gier B AlcHiore!
T 292

6.4gms of methyl alcohol is present in 200 ml of water. The molality of methanol solution
1?7

A. 0.5M B.lm C.1.5m D.2m

14
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ATSEISTeT T JTIATBIOT St JiTareiTstet I 317 & Ffoh?

Ionization energy of Nitrogen is more than oxygen because of ?

A. AT gRT 31T Solergiall el Wik More attraction of electrons by the nucleus
B. 3T 3R U Y 3iffdecw T 317N RERRET The extra stability of half-filled p

orbitals

C. BIC JTFR & ATSEIT UIATY] The smaller size of Nitrogen atom
D. 3T FIT UHTT More penetrating effect

70

U Ylfcdd WW@W@W%A metallic bond is

A. 3ITAF lonic B. %Eﬁ'!?fﬂ%"ﬂ?ﬂaﬂ? Polar covalent
C. SelgeITced Electrostatic  D. ﬁ'{'-?:Fﬁ'éT HEHGISTh §9el Non-polar covalent bond

71

CRlTEeY 310 URH T HF & Plaster of paris is

A. CHSO4. HQO B. CaSO4. 2H20 C. CaSO4% HQO D. CaSO4. 1% H20

72

P T Tellold A STUdH Solarciel ATA &

Which of the halogens has the highest electron affinity?

A. 3™AEAlodine  B. SR Bromine C. Fall{IeChlorine D. Fel¥e Fluorine

73

oot &1 & hleT |1 Fard Farhr &707 fer@ma 2

Which of the following shows highest magnetic moment?

A.N" B.Cr®  C.Fe" 0. Co™

74

x 3R y 3SHIEIA ¥ BeTeh R T HEAT Horer: 70 3R 72§19 x v uRamoy Fwan 34 8, a
y ST T &2

x and y are isotones. Their mass numbers are 70 and 72 respectively. If the atomic number
of x is 34, what is that of y?

A.32 B. 34 C. 36 D. 38
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Radioactivity of Uranium stops when it is converted to ?

A. Bi B.R C.Pu D. Bb
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The radiation having a high penetrating power and not being affected by a magnetic field is?

A. o-rays B. y-rays C. B-ray D. Positrons Tifotere
77| 11C and 1B &FT el STl &
¢ and LB are referred as
A. ATSHET Isotopes B.Hléﬂlélﬁl Isotones C. 3-11%@?[? [somers D. é‘FﬂEﬂT Isobars
78 | g 3R ARt & Fal 3cued &1 & FROTE
The energy production in the sun and stars is due to
A. GTATIIfIES Nuclear fissio B. WTU_R:!?«FQ?-[ Nuclear fusion
C.2aT 1 3R 2 Both A and B D.Noneoftheabovem?ﬁﬁl}lﬂ'ﬁéﬁﬁﬁﬁ
9 | afaf@a & @ &l a1 Hieaers 2
Which of the following is pesticide?
A. 31994 Dithion B. Tl Auxins’
C. Hc»galutla Salubutanol D. WDaspone’
80
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Among the following which is the Green House gas?

A.S0, B H,S C.CO,q D.NH;

16




